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@ (—2x%y)3 x (2xy)? = 32x8y°
@ —4(x?)?%+2x* = -2
@ 2x3 x (=3x%) = —6x°

® 16x%y + 2xy X 4x = 32x>
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2.

742.9] 2ot (2a)* , EO17} 5ab , AHBA] %57} 800 A W,
Alz2] 7ol

® 2ab @ 20ab ® 8ab @ 24%b ® 84%b



3. 7t= dol7t (2a)* , &OI7} Sab , A5HA| 2] F17} 80a°b* L
Alz o] dol&?

® 2ab @ 20ab ® 8ab @ 24%b ® 84%b
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D (-20%) x (3x) = (6y)° = -5
@ 14a? + (-2b%)? x (3ab?)? = —28a*
2 2
® (§a2) x (362)2 = (4ab?)? = &
® (100)? x (-as*)? + (~2ab?) = 9000
(L) -
X

© (-4x%y) + (—%yZ) (2xy%)? = 48x°y°
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6.

14x2 + (=7x) = (-2x) & AASHA?

D1 @ 2 ® 3
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@ 12 ® 15 @ 16 ® 18
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10. o= F At 237 b 7F ofd A2?

@ ab x a®b? + a®b? @ a® + a®b x b?
® a*b® + (-a) + (-ab?) @ ab® x ab + b*

® b2 +a’b* x a®b?



11. AswA o] Fui7} 2745° & wf, fF A 2] o] dol=?

O 3ab3 @ 94%b ® 3a3bS @ 6a®b3 ® 9a®b3






13, 12x% = 6x%y% x (=2xy") = —4x? oA a + b 2] 3F= F-514A?

@ 3 @ 1 ® 4 @ 5 ® 6



